‘53q s veL AU Ui 20d B ?

(A) vl (B) vissi
(C) uvuir (D) ™%
(E) Not Attempted

o ave-l am-udl ase wudl.

(A) 1R (B) 1MA2

(C) g WK

(E) Not Attempted

uZ sl steuRs gl ... g1a1 eafacmi 2ud 8.

(A) A28 dlR (B) 25 1

(C) uvia dIR (D) wviaL el

(E) Not Attempted | |

TFR 24 4 ?

(A) AEL UYL ER _ B) Rud uy- €2

(C) §AUYLER (D) LR ux1 €2

(E) Not Attempted

QA U4 su 918 (Plant)l g3zl Wseu a3 auad 8 2 F-u ol (seeds)Hidl da staaui 2ud

97
(A) Was  (B) sl
(C) wasvll @) 2] calda A2 W5 A5 um Al

(E) Not Attempted
3 gl yas ¢is wed YA s el 2o © ?

Pm:—z—fﬁ“—xloo

Zpoqn

(A) Slar-l s s
(C) Wl Y35 2is

(E) Not Attempted
AS AR AsR-1%FS 122l ¢ Al usiz 54l O ?

(B) AR Y5 s
(D) Azl Aad-l yaus ¢iis

(A) u2s - (B) nalast

(€) dlslld
(E) Not Attempted
a 202141 Glesaudd 7HL A dA)

(A) dou S N il O3
(C) dlou §12 dea A3 A
(E) Not Attempted

(D) Haagi

q qoL Randl fu ... sdl.
(B) dlou 12 sidls-19

(D) dlow £12 da ol

SA-E]

3 ' [P.T.O.



9. ____ havedone work today.
(A) He, few (B) They, something

(©) 1, alot of (D) You, nothing
(E) Not Attempted

10.  [Rylsa-l swrani dgasl [&Qu& Wy biriadil 1849 agad sl anzul 34 Ad 3uidRa s9)
s ?

(A) ARis HeaH 82 5uid) viaio a2 tug s
(B) ARsL Yrian 82 v o u2sluidl sug s
(C) ARt wenm u259 ior a2fui GANA

(D) AR50 YrdH 82sA viaios wesui GAAA
(E) Not Attempted .

Toladal [ w0 | a8 | e | 84 | w2 | 120 | 18
B | 138 120 102 84 | 66 48 30 12
241 6] geflAl 42 ASG{YES Jedl Wy ?
A)0 ®) 1
© -1 D) 0.5
(E) Not Attempted
12. sl el wtiss s ax we Gtmla{l 0?2
(A) Aedbus ®) sRRvay
(C) WD . | (D) qudlu

(E) Not Attempted 7 _ ' :
13w v [Rrrul w8 sl iz W derid dad sRRuA 5§ squ) RAaas 538 ?
(A) s44 - 101 | (B) 544 - 184

(C) $au - 96 . (D) $au - 207
(E) Not Attempted .

14.  AoAd Rarflsd - saad ad ¢dl ?

(A) 1917 | @) 1923
(C) 1920 - (D) 1922
(E) Not Attempted

15, e 2132 W2 wAURid YeyeR 3 HEL Yy e2 R2dl

A) wRid (Standard) -
(C) RAduME (Hygienic)
- (E) Not Attempted

.(B) B R‘{l@ltl (Not standard)
(D) Bt 2uQoung (Not hygienic)

, , v _ 7
SA-E] L 4 ‘ [ .Co



16.

17.

18.

19.

20.

21.

22,

23,

(© 6a-dullex

HASR loreudl 1 2y Ao Rig ) &,

(A) Belau 2dis12 (B) GuHL 25

(C) 3usndsiR : (D) euzrgld AR
(E) Not Attempted

Au-udl u0e qvil : ua

(A) uy | o (B) el

(C) Wy - ) A=

(E) Not Attempted }

Gt 94 w2l cnus zq.zug allse 94 safdanidl 53 €1 U5 ?

A) Q= - B) Qx= {(A, B,C, D)
(©) Q.=D, | @) 21l galde 2 U4 Asua dl
(E) Not Attempted |

Gt Rdar suffs 2a3uni Gaue su azdlg R Gl d ?

A) Bua . (B) Gewg W2 2iaudl
(C) §4 2045 ) _ ) gavdl
(E) Not Attempted
are your shoes. I them.
(A) Where, had clean ' (B) There, cleans
(C) Here, have cleaned | (D) All, cleaning

(E) Not Attempted
5yl surAopag 4 S ?

A) afla-ug’ B) sales

(C) Y u?,al | D) ¥R
(E) Not Attempted
4 380122 B agnl a-ll o Al aeldvuvil il vide 324 adl?

e (B) 4 A-él2R

(@) 8 A-dl2R

(E) Not Attempted

it $3 527 ANl A 2Asoda O 7 :

" . Uzt

(A) u.‘!lili ypuada ' ® _— . .
L o) il gafdd A Q4 25

©) uf’l&l:i Alaswt »

" (E) Not Attempted | . PTO.
5 :



P Al sd YA YD 7
24, v Ydu e Y=x F+U wd dsad gt aof 2uowit Wied |

y, -1 y1
A) B=(x"x)y" X'y B) g;(X'X) XX

© F=X'x1 ¥ x o) p=x'0" (X' y)™
(E) Not Attempted
25, Hidmi gzl DA sz w9,
(A) WA i6i[d (complementary) azgAl-ll BudHi g2u3l Adl
(B) A At s-l 2uasui awizl aall
(C) WA 50l (su.bstitution) W2l azgil-l Buaui arl 2
(D) 2l salder A0y sRee
(E) Not Attempted

26. 1A 200l 22134 24 A+ sRA A3l lou [seu Akl

UL , sla
a. veRe-ssaA 1. R4S Hddl
b. 228t . 2. G
c. -ieoi{1dl : 3. M
d. ok 4. Rl M
(A) a-1,b-2,c-4,d-3 (B)a-2,b-4,c-3,d-1
(C)a-3,b-1,c-2,d-4 - (D)a-4,b-3,c-1,d-2

(E) Not Attempted
27.  WHY YW HI3d (General Linear Model) 112+ \adil-t showiq w13 58 ugl wafd O ?

(A) ~yrtdH il ugld (B) s34+ ugla
(C) Chisquare test L ugld D) Qggwa‘i tyday
(E) Not Attempted |

28, ARAS AU WA A .......... Hidd] Gergw B, ‘
(A) sl (Dynamic) (B) aul-ucus (Descriptive)
(C) 2l (Static) - (@) A3t (Analogue)

(E) Not Attempted

29. A asuul Awild Acel A 200wl
(st well cu? A+l 24ivilui gcian wais as.
(A) Guue S (B) A4y
(C) swRy - | o @) oigdlR
(E) Not Attempted o ‘ »

SA-E] : , 6 _ [ Contd.



30. CBR g Y3 3 2uMl.
(A) WE %= g2 | B) Wl (A5 €2
(C) WEl Rar €2 (D) WEL YY ER
(E) Not Attempted ' |
31. Don’t disterb , they now.
(A) those, read ‘ (B) them, are reading
(C) their, reads (D) themselves, will read
(E) Not Attempted A ‘
32.  Choose the option which is opposite in meaning to the word ‘sceptical’.
(A) nerous - (B) horrible
(C) hopeful (D) lazy
(E) Not Atterhpted .
33. 44l [Auus Bewesdl (capital productivity) W2+l Aqad s2a1 W2 DArunid 53 Yo v B ?
V = Beues $3¢ll Yeu QIR (value added by manufacurer)
K= H\ﬁ As (capital investment)
L = Hi1d 34 810 (human labour force)
% Vv
W TTx - ® Ji+x
© % o L
L K =
(E) Not Attempted
34 Al garll e, waior-eud aisd sl sERA s wsAD MG 53 B 7
(A) syl (B) Unasumlz
(C) Ml (D) uramEa
(E) Not Attempted
K B3l 2usfd 58 as.
(A) icuglaa - (B) W WAl deus@n
(©) Reulyd deugfa D) gtz uslA
(E) Not Attefnpted |
3. ‘ownd g qud) &R ‘
PR BAA g — s sRAUGS? I f
@ EI[;\ : ((::; euet w8 ;
(©) gy . /
(E) Not Attempted ' /""Tm ? ;
_ 2 | &
SA-E] o | —
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37.

"AUNAN A=A 9] sdaum] wd § 9
(A) Heen

(B) ¥l
(C)wls

| D) suzu
(E) Not Attempteq

38t A W2 ARy Gewngn w2 nd adl Radeitis v el ® Y =30 +0.7 X
BUX = Y, Y = Geypen (ara 3MRui)
1280 a0 MB Gayg i) vierRdl [Bua Selaw ?
(A) 38.4 awy 3Ry (B) 37.7 cw 3[
(€) 37.9 @ 3 (D) 40.6 cuvt 3L
(E) Not Attempted

39. I am sure I him
(A) saw, tomorrow (B) seeing, yesterday
(C) am seen, next week (D) saw, yesterday
(E) Not Attempted

40.  uSHA GSHE Yoani vuda el VA 3R i ar 3 ae el 3(Rd 9. 21w Qad
248 S 611 Y Wi 20d © ? | | ,

(A) AT WK . @) Qe Swyreu s 382 938 SR

(C) 22 85 vils S-fla | (D) % S5 AR Y34 €l d 618 g1
(E) Not Attempted ‘ '

4. Reudluuraguq allsad 3 549 ? | |

 (A)y=a+b ' (B) y=ax+b

(C) y=ax* +bx+c D) y=ax+b+c
(E) Not Attempted - '

42, RAHi A 2uasdl ol A yuu HEw @ ?
(A) Ufld FusAa 183 (B) 2124 Bl euopuis§
(©) 3L D3R4 Ad (D) . wgiclely,
(E) Not Attempted

43, QL a2l A, B, C 2+l icudu-t aeinu Ram Yo D) sLYANY O ?
(A) P(AUBUC) = P(A) + P(B) + P(C)
(B) P(AUBUC) = P(A) + P(B) + P(C) - P(ANB) — P(BNC) - P(CA) + P(ANBAC)
(C) P(AUBUC) = P(AUB) + P(BUC) + P(CUA)
(D) P(AUBUC) = P(ANB) + P(BNC) + P(CNA) - P(A) - P(B) - P(C)

. (E) Not Attempted

44. you mind some time for .me? ‘
(A) Did, spared (B) Would, sparing .
(C) Do, Spares . (D) Can, spares .
(E) Not Attempted

SA-E] B - .8
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45, gl Reed dlorn w2l As el dlogruni 1000 seeton 2L 10% | Feal dari 203 B, 2y
W2 Amount of Inspection (Aol) #3191 udlag g Wd w2 AL 2ienan 30% G cud 52

ad ?
(A) 730 (B) 620
(C) 450 ' (D) 380

(E) Not Attempted 7
46. AWMU YU HI3A (General Linear Model) Hi 21414 Ug {127 [AdR2 54 ¢lu § ?
(A) tiguel [ddaw (B) A [AdrR
(C) nHey [Qdw (D) el [Ade
(E) Not Attempted
47. Yol axd udddl o sddl wel. — ImilBa gl usR sudl.

(A) WHUSEA (B) H[Awged
(C) ®d4ed (D) adHiised
(E) Not Attempted '

48.  evrerene A AeuaHl Regi ugli 4 s asi. ,
A) xRd Rgal ugld B) Ratusas Red wald
(C€) 229 [Resiv usld M) w0 we9s g ugld
(E) Not Attempted

49. g arelil gedl quiRil €2 ..., GlRL AU 8.

%ul CDR = A€l YeY €2
CBR = A€l %4 €3
IMR = b1t Yy €3
(A) CDR - CBR (B) CDR + CBR
(C) CBR - IMR : (D) CBR - CDR
(E) Not Attempted '
50. 818 As DNyarg- wisl RuRRS (elastic) D sdaua 3 ouid ...
(A) Buaui adl 8218l g4 2uasui adl ga1iui WRed o,
(B) d Aogarg vuagus Slu B. S
(C) Baani adt atiaA 5129 54 uasui aqil aqe
D) [Budni adL qRid dli ga 2uasui g218) 2
(E) Not Attempted | :
SL dpouens a4l awn 33w Wlde w2 san RRrs usizd ugl auaa d ?-
A) FRua ad N ugly
B) Wia A ugly
(C) WL Bniog+ usl
D) 4 A4 AR wsld (Dummy variables method)
(E) Not Attempted

5 [ P.T.O.
SA-E]



52.

53.

54.

55.

- 56.

57.

58.

59.

i ol un “wcal)” 8 ?

(A) £ - (B) elln

(©) sl | (D) 2t

(E) Not Attempted

Elsll 2unl W21 AidRU wHeyd 54T Elsdl WIS sedl adleil lu® ?
A3 B) 7

(€ 8 D) 9

(E) Not Attempted

6] vl 40 1A 60 AU B, Al g1 (:a3d) Harmonic mean weus 3edll i ?
(A) 50 (B) 48

(C) 62 (D) 80

(E) Not Attempted

DQ3Ariuis) ML i su S ?

(A) 1LY ‘ ‘ (B) &2t 4
(C) a3 o (D) § 19
(E) Not Attempted

ol 3L §l?-lblél y[Rafld 93 U4 su [?Jcﬁmt 2l 2Aad ?
(B) 15161

(A) 32
(D) el

(©) adl
(E) Not Attempted

He here the last five years.

(A) has being working, for (B) working, since

(C) has been working, for | : (D) been working, till

(E) Not Attempted

oA U2 AR coeeeeees . ,
(A) SR DA st Yyl Aval (B) €2 $R YN A1l Al
(C) g2 AL yoridt Al vt | (D) e28omR Al gwm vl

(E) Not Attempted

69 ouogeil o A Rl w 21s 0l b i 8. 21wl GuR Hadl dvad-l Al 8
214 A w2+ ieuanu sedl '

1 1
(A) 3 | (B) 3
5 7
©) 2= : .
36 D) 36

- (E) Not Attempted




60.

61.

62.

63.

64.

65.

66.

67,

A0 AL : AN + S

4) 4l ®) Al

©) Wb ) >l £aide AR AEL 2Asua Al
(E) Not Attempted .

% gells-l sy a2sl g dla day Alsd ... PRI

(A) Y Aslls (B) et Aells

(C) 12 Aells @) A= Ads

(E) Not Attempted
t9¢ lduvidl : aandl 2eui :A«u 212t & £1ot Glaul, A AuraSHl £ g g 24y,

(A) ud : : (B) 242U

(C) dles (D) AwS

(E) Not Attempted

I him a long time.

(A) known, ‘since (B) have known, for

(C) know, till (D) has been known, over

(E) Not Attempted
QA U 56 UM F'5 WS 1l (ocuro&)vﬁ GualoL uu-a owuy € ?

(A) 2N §5 B) o1 55

(C) sUsLSS ’ D) A 55

(E) Not Attempted

dosndui Griell e[Bani »udd uckmmwflvﬁ il 54 13 WA [Aseunill urie 2.

(A) Raedl - Alaygst - [Ae - asudd B) ke - (4= - Asudl - AdysL
(C) »Raedl - [H8d - A1dy3L - usudd (D) ¢l - usnsl - [dea - dyst
(E) Not Attempted |

: 2 5
lmlm A Baa g wa ?
x—— x— :
Ao : | ®B) 1
3 | 2
© -3 o

(E) Not Attempted

QLR AU 2, WHE 24 VUYL yafaus UL A U
(B) Al A

(D) @gomlvﬁ e

2+l Rreuslanidl Qi 21da B 7

(A) ARNUL ™
(C) -iedenl @
(E) Not Attempted [ P.T.O.
‘ 11
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68. ‘W 22’ g wyar 3 qua § ?
(A) aion 2{q34) Gl awwi
(QRELRIATY
(E) Not Attempted

®) 2l dladl
D) gl getlsl

69.  While — ,she asleep. cll
(A) reading, fell (B) reads, 1a .
(C) reads, fell (D) reading, falling
(E) Not Attempted

70- % Adlsul 12 24 aefonell vty 2t LA AR o Alls s,
(&) Yru Als B) et AMls
(C) s Al D) Al A%

(E) Not Attempted
7L 3% A4 MR 52 13 A usiz-u W dld Al 53¢ 9.

MAHURA W2 R? =097, R2=0.68

oo W34 2 R? =0.93, k2 =0.85

2L el 534 43e ddl ay dlou e ?

(A) ollg Hidy

B) udg e

(C) udg H3e 2 ol W3 b AU W B
(D) udq H3& 21 ol Hide i) A syt 4]
(E) Not Attempted

72, Al d-i AR A4 s udan yel qaill ieuan ... Sy,
(A) 100% (B) 50% <l 21t
(C) 50% f aur (D) 2l gaide e U4 Asyg ]

(E) Not Attempted
73. “He is too strong to beat his rival.’ If you remove ‘too’ the answer will be
(A) He is strong to beat his rival.
(B) He is so strong that he could not beat his rival.
(C) He is so strong that he cannot beat his rival.
(D) He is stronger than his rival. '
(E) Not Attempted
74, o sud 0l Aeadla otda gl dl well e g 2 ?

(A) d¥ , ' (B) uRof]
(C) Ysdl | (D) 2uendly
(E) Not Attempted ‘
SA-E] | 2 —
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75.  YUARFU N A Bud) L QU e
(A) B (B) A™
(C) $5d ant (D) 118l
(E) Not Attempted
76. UM Y HI3A (General Linear Model) i tigaudvidl (Multicollinearity)l sz s »udl

as ?
3 c

(A) suR Ralus 26l vz ads gy @) R Raius adl waR 2R Sl
2 . 0

(C) R [iius aal 4 Budiaw gy @) s Raus a4l se Budlawn diu

(E) Not Attempted
77, SIS Qois eiRA6R St i Radles 2ud O, 2u az- w2 53 Agilas Qazazudl ag ?

(A) [gufl [da (B) widur [Adare
(C) ARl [Adw (D) naey ([Adr
(E) Not Attempted

78. 1L 215 i o-Aal 1900 tunSidl 38 cundl ey WAL €A dl & ARAL A YY €2 .o WA,
(A) 20 (B) 30 :
(C) 40 . @) 50
(E) Not Attempted

79. magazine you are reading now is a popular
(A) The, fortnightly (B) A, forthright
(C) The, fortnight (D) A, fortunate

~ (E) Not Attempted

80. Who more marks Lata? _
(A) will score, then (B) has scored, than
(C) score, then ' - (D) scoring, than
(E) Not Attempted

81. Ram and Shyam farmers __ - produce foodgrains in their farms.
(A) have been, whom (B) has, where
(C) will be, when (D) are, who

(E) Not Attempted
82.  ugwly Ay suigla?

(A) yedlrl 5w U ' (B) Griya U2 |
(©) slaygaux @) 21l gafde 1 U4 A5 weL 1l

(E) Not Attempted ’
uglA gL ua 9.

83, Al sl Al SedH G5 ..eerenene
(B) VAM
(A) NWCM (D) MODI
(C) LCM

Not Attempted
(5) Not Atte [P.T.O.
13
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03 asad dga y usg e !

84.  2uRAL AUAY g3 Aiflop) AwRerL SUL UHHL 2
() udleid) (8) #ildled
(C) $esidl @) uaoudl
(E) Not Attempted
85. % bxy = —0.4 34 byx = 0.9 ¢l dl agaiviuisd Bua Sedl A ?
(A) 0.6 (B) 0.36
(C) 0.44 (D) 0.6
(E) Not Attempted |
86. She looks about
(A) worries, anything (B) worry, nothing
(C) worried, something (D) warrior, everything
(E) Not Attempted
87.  uaw Al vauziluidl 3 ad Redln cudll awsi Ad) aivauill s Sedil a2l ?
(A) 165 (B) 10
(C) 5.2 _ D) 3
(E) Not Attempted
88. H2dl %l HUARHL ﬁQH (Law of Diminishing returns to scale) SIDETEEIIET) uﬁ&‘a[?mi uad ¢9 ?
(A) Geulgniil a2siul adl 29d-il AR $18 ‘
B) S8 ues-t atn-i 2suidl Frdui atull qaael
(C) Y3 Alad 2 825 © d 5120
(D) AL 2Le9) A5 825 Geulet {2+l Haudid Q1§
(E) Not Attempted
89, el SUH AW, — AWSAAUAL USIR vl
@ead ®) 5dR
(©) sH[& | ®) A4
(E) Not Attempted .
M) ¢ 3 .
90. ;1; 'ltzl%c:l b{é ; :231 ;é{’:;i f :Qtv\; g;lR z)uimv% 62 (CBR) 256, o d a1d2a4i wapet+t at 4z1ad) 1Al
(@) >0 (B) 60
(€ 10 : | (D) 80
(E) Not Attempted
91. Ashok ___  the ladder when he _____ the roof.
AR ® 0 v e
(E) Not Attempted - alling, mending
SA-E] 14 —_—
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puél a2 wed WA Wy Yo e 5.
45\ (1Y (25 |
P(x)=[ « N3 3)

vl Qded, EREL] (variance) 3:2(:]; Yy ?

(a) 10  ® V1o
() 15 (D) 30
(E) Not Attempted A

]
g, sRlud I:Illugl?a Aelld @Rt W i dogui gyl alqu aeudlHl 2ias wale 32dl 1sh
grami Al e 7 |

(A) 2,50,000/- " (B) 3,00,000/-
(C) 4,50,000/-- (D) has Huiel el
(E) Not Attempted

g4, AN [Q8Y y = a¥ 4 x L WUl Asa g wn?

ax a
A +e +
( ) loga (B) loga ¢
ax+)
© 3 D) xa*!

(E) Not Attempted
95, IRl AlsAMLAL defHirt 252 suL AU AUE ACU D ?
(A) H&Lug B) [Bxaa usa
(C) A | (D) s<lasu
(E) Not Attempted

(224

% QA X ¢A Y azd- usaivitisd yed 0.80 O. ¢ 1 6id Aeh2inl sy wrdisia 2 a3 el 3 4
L] 4l Sl wa 8. A A aAA-) usivitis Sedl aw ?

(A) 0.80 - B0
(©) 0.20 | D) 0.12

(E) Not Attempted | '

RN s Angan Wi a2z Asufs wsld s A e O ?

(A) 2w ugl @) uls Rl ual
(C) w29 Mgl usald @) 2 R usld

(E) Not Attempted

L s
SAET | 15

.
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98. it yonug axlseeid 63 Andl
X+Y=7
3X-2Y=11
(A) X=3,y=7 (B)X=3,Y=3
(C) X=5,y=2 (D)X=2,Y=5 '
(E) Not Attempted
99. 12 200l 2iveneflu oiAad avar + gl A Rl
3,10,27, 4,16, 64, 5, 25, 125
(A) 3 B) 4
(C) 10 . | (D) 27
(E) Not Attempted
X-8 .
100. U89 ue X  Razet 8 wes »id 3 wullid (G wued Rae 8. A Z=—3— sl dl e 724
(et g awn ? .
(A) Wy [Ade (B) Wil uured [AdRel
©) 3[6 a3 (x2) [Adza (D) F [Ad:at
(E) Not Attempted
101, 3L ARAGIA AiA352 AidaRY @t e dlog-uAi 32e 3Rl Al oL AL 2ieui 2ud © ?
(A) 25,000/- | (B) 40,000/-
(C) 50,000/~ (D) 60,000/-
(E) Not Attempted
102, 202131 4RS! GRL AU ... 201l aed 8429 S zuui Awae s el
(A) HI3L (B) Hloudl?y
(C) viiendlst , (D) Blus2
(E) Not Attempted '
103, vt diagl-il Rsia 56 nonwl sl ?
@A) 2ud ®) g
() slas ' D) us
(E) Not Attempted
YRR DR CE LR zg\uu-&t:&-{l Sl vuef) %’oql;j] 5240 Y g 7
DEF, HIJ, MNO, ___
(A) STU (B) RST
(©) RTV () SRQ
(E) Not Attempted
SA-El e T
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105.

- 106.

107.

108.

s scudll 56 d-u adl 8 7

‘(A) SR | (B) clsHl-et
(C) A (D) s

(E) Not Atteinpted

‘A Yaets AN O W2 § el .7 — v asu 23 ue 210l 1A 2ida [Aseunisl sul ) 8 ?
(A) anall - ' YRR
(©) wug | : D) BuQduz

(E) Not Attempted

QAuuie san 2ol el aou el ?

(A) Yl B) 6A
©) kAl @) s10¢l
(E) Not Attempted

yaas1d 2R 52l Yoo S uRul €lu 8 ?
a1 (B) 2
03 (D) 4

109.

110.

111.

112.

(E) Not Attempted ' ‘

MIRAU 539 Aot 12t 24 illat 024 IST 2ize 918 93 s oL ?
(A) M. AR, A4 . @) s 2.3.202.4. 24
(©) 3. sl | (D) Sz aidl

(E) Not Attempte(i | _

£ a¥ Al 5204 s Bar a3 dloan O ?

(A) A& AU 3 (B) A& 34 3

(C) acs e 3 o (D) assdeud

(E) Not A&empted | |

GDP -l Rsia 62 22 97

(A) 3, Ao, Ward cua a4l (B) Gross Domestic Product-il 4&e2

(C) Government Daily Productionl afdgx (D) »tdl eulda aa 4 25 u Al
(E) Not Attempted

‘HRSIR’ SlAA AL AR SR et ?
A) Gugisz AN ' (B) WL 5. 61512 (LirddAd s1512)

©) yexy | ’ (D) EQUARAM
(E) Not Attempted '
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113. He thanked me I

(A) till, have done. (B) because, did

(C) for what, had done (D) since, do

114,

115.

116.

117.

118.

119.

52158 ol sof (Cpwmy e 4 ?
(A) Qionni o] aysf (B) o 38wl
(C) A3 Wiof WEHN w[a'a Aa 4 s 1l

(E) Not Attempted -

. |
Y="7 doxluda@sargan? & ,

&) 5= ®) —2x
X
2 2
© -3 | « D) 3

(E) Not Attempted
A1 qatfeus alsel G3a Aadl.,

X2+3X=0
A) X=-3,X=-3 B) X=0,X=-3
(C) X=3,X=3 D) X=3,X=0

(E) Not Attempted
Which option is nearest in meaning to the word ‘cautiously’ ?

(A) silently (B) bravely
(C) genuinely ' (D) carefully

(E) Not Attempted
AR ARl 15 20001 E3UL ARMIRHL YA Hiis 441 24 WAl JAS Vs 900 UL WY 9. 26wl

‘Slarz-l yus wis sedl ad ?
(A) 260 "(B) 670.5
(C) 630 ' (D) 380
(E) Not Attempted : ‘
AAUASHL cveevene EYE I Al vyl Qlu B,
- (A) SR ¥ H2s (B) it i 425
(C) SR A M | | (D) 2l euldat o VA Asyg

- 120.

SA -

(E) Not Attempted
al2dHi Prime Lending Rate 512 154l 53 @ ?

(A) State Bank qf India ' (B) Reserve Bank of India
(C) Canara Bank (D) Bank of Baroda

(E) Not Attempted -

E] 18 | [ Contd.



121.

122.

123.

124.

125.

126.

127

w1ed RdR@ W2 RNl (skewness) 21 H2us1dL (kurtosis) il Budl 3zl au © ?
(A) 013 - (B) 3210

(©) 02410 (D) 0¥A3 -

(E) Not Attempted

QAudd.......... At A axell RQuus 2ise Anaard Aa 4.

(A) uel-l fa () axdl aedd-l Ad

(©) [3=AQua-l Qo ©) Wifla w0150 A

(E) Not Attempted
2011+l azell AR w8l Yopudni N2 WA s @ec-aysHl 2 Al axdl 50 2sdl ay © 7

(A) sid, andl, ewsle, aqus (B) $io1, dudl, ACIRS16L, lrlLusiel
(€) gL, andl, dansia, wReieR (D) gL EISIE, UAHSIY, YR

" (E) Not Attempted _

DAuniel 56 5[ 3 u~nena uda- araiziagiHi 44 ?

(A) Wi D (B) Yut guirl el
(C) AAsA 518 (D) ARl

(E) Not Attempted

521581 yel wio 158 52 W12 53 uRewn Ll dan e ?
A) 2] salda e WA 215 uat 4l B) "5l
(C) A : (D) s

(E) Not Attempted (
2022341 Rdxt B @A AHUR el dedrs WElMT AHAA 8 d 2 su [Aseuni sale] o ?

(A) luiR Al (Deepor Bell) B) Rordla ades aids Ars2y
(©) ellsrunn ases ass A5yl (D) Ay ASs |

(E) Not Attempted ‘ B .

R 25 Ul 2 3¢, = t, = 2t,, = 18 S1a dl U 202 AARA i Jedl 4dl ?

ol t, = 2Ll AU

t, = RRugl aua
tm = AYHI aY AMQd Ay

A) 10 o . ® 11

128,

©12 D) 15
(E) Not Attempted

Alds 2, 5)0 A4 (Rank) 326 2l ?
A1 : ®B) 3
(©)2 : D) 4

(E) Not Attempted

SA-E] - 19
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129,

The s
A oup —— good but thesalad ______ - .
(A) have tastes, isn’t (B) had tastes, didn’t

(E) Not Attempted

130. 3 x 5 53 queq 2agiz- AR grnagllysa 2ada Al VAL ceeeeeess
(A) 7 ®) 8
52 | ) 15
(E) Not Attempted
131. %A A=[; :] ald =1
(A) 0 B) -6
€ | ®) 1
(E) Not Attempted '
132, axdl [Quas Rl zieofui NPR 2124 g ? .
(A) N aquidl r azgil-l suau (B) National Population Register
(C) Natinal Public Roadways (D) National Population Research
(E) Not Attempted ‘
133. % Ai3dls cuuni A “STATEMENT” A “TNEMETATS” a3 calan cﬂ dui “POLITICAL” A 54l
Ad ealan ?
A) LACITILOP (B) LCATILIOP
(C) OPILITACL D) 2] ealdd A4 A 28 u Al
(E) Not Attempted
134. NA-uuiddl 53 s qu D ? | |
() v g nzsuilavadl. (B) elrs AR -u2sui Al oi-l).
(C) el 2wt -u2sHi Al ol (D) 1% 3 s Al o1y,
(E) Not Attempted
135. DES il {zaug 2uy opauall.
(A) Domestic Index of Economical Service
(B) Daily Industrial Economical Service
(C) Directorate of Economics and Statistics - -
(D) Delhi Industrial and Educational Service
(E) Not Attempted ' '
136. wlissiauani [Rud Aoirl 20U sl Yoy ég,m S w0 § ?
(A wadl e e ) Wl €y sy
(© wamdaune ~ (D) S w2t Yy g
(E) Not Attempted - |
— 20 0

-E ! | | '
. | | | | [ Contd.



137.

138.

139.

140.

141.

142,

143.

144,

ugteld PR S0 s w2 i) 2y o) ?
a) Bad-2 vedl

(©) A&l

(E) Not Attempted ' '
Dr. Vyas,

(A) when, will
(C) whom, has been
(E) Not Attempted

you cohsulted last week,

ad 202141 Al A2 Glaws ur R sofa ws Glgate

(A) Bwaa e
(C) GrRwis
(E) Not Attempted

(B) A sauda
®) s1a RRan asd

a practicing physician.
(B) whose, are
(D) who, will
.......... ABAUL SAUHL v,
B) ¥ 59l
D) Wssn

F [Qd@i Guala 2 DA-wmiell s Quin g o ?

(A) ANOVA H2

(€) Ruazivsiuis Anaq w2 |

(E) Not Attempted o |
.......... Aol vell2l-l aiva yel 9ol §idl AS=A,
(A) iyel ugss

©€) AR AR

(E) Not Attempted

AUHAL ALHL [QaNdL iR ue Aed ...

(A) udH

(C) ged

(E) Not Attempted

He

(A) usually, came

visit us every week, but he

(&)} used to, coming

(E) Not Attempted

2 & wlsel 2uda O,
Y=3X+2

Y =5X

21 A5 G3a g 2ud ?
@A) 2,8)

o &,35) -

(E) Not Attempted

B) uRA [daze dnqa w2
(D) UHUBA €l Anaan w2

(B) ugx9 bl
(D) Aysl ugay, a4y balls, ARA W2

B) Rang

D) Bawe

Now.
(B) used to, rarely comes

(D) usual, comes

B) (5,17)

D) 2,49

SA-E]
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145.

146.

147.

148.

149.

150.

“llRLS 2udlciani Aedsa S3-2ui sies A Ana-iz s cudl s 97
(A) WLA. Gw

(C) Bievy Ry

(E) Not Attemptéd
vl Yagll w2+ DA v 9 20l edl? v yagll 2 et saals zada AL AL
@A) L A3urd e B) H13a R

(C) ol i B @) £le1eS 1aR1FD

(B) viog oilell 2%
(D) R AUt

(E) Not Attempted

Z.= 22X +18Y 3qaal Qluawfl 35 yau 2l a6 (2R Bigil A, 0), B(O, 20),

C(8, 12) 1L D(16, 0) €1 dll Sgaell QA uea (U ovvveene CIOR
(A) 0 ' (B) 352

(C) 360 | (D) 392

(E) Not Attempted '

apRteiett Freiztan a2t auidt R AL -t il wte M sl w2l a8 7
(A) C20dv ' | (B) R2udw |

(C) p Audv | (D) np ¥udw
(E) Not Attempted '

2800i4- dSauR 568 AR Goraw & ?
(A) $1d5 Ye ol | (B) SUdRLYE Y
(C) SR YE YriH | (D) 2l Ye Y

(E) Not Attempted

wg1s 2 4oyl il 56 ARl Haasa-u el © 7 |
(A) wieeril gl . | (B) A%l -

(C) i sl - | (D) Wi @q
(E) Not Attempted ‘ '



